

$$a \equiv b \pmod{c}$$

$$a \equiv b \pmod{c}$$

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$$a \equiv b \pmod{c}$$

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
*i.e.*

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1$ ,

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c}$



$$a \equiv b \pmod{c}$$

► First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

•  $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ► proof

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof
- ex)  $1 \equiv 4,$

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$$a \equiv b \pmod{c} \quad : \quad a \text{ and } b \text{ are congruent modulo } c \\ \text{i.e. } c \mid (a - b)$$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof

ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3}$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$$a \equiv b \pmod{c} \quad : \quad a \text{ and } b \text{ are congruent modulo } c \\ \text{i.e. } c \mid (a - b)$$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof
- ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$$a \equiv b \pmod{c} \quad : \quad a \text{ and } b \text{ are congruent modulo } c \\ \text{i.e. } c \mid (a - b)$$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
*ex*)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1,$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$$a \equiv b \pmod{c} \quad : \quad a \text{ and } b \text{ are congruent modulo } c \\ \text{i.e. } c \mid (a - b)$$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
*ex*)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c}$

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$  ▶ proof

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$$a \equiv b \pmod{c} \quad : \quad a \text{ and } b \text{ are congruent modulo } c \\ \text{i.e. } c \mid (a - b)$$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4,$



▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3}$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \times 2 \equiv 4 \times 11 \pmod{3}$

$$a \equiv b \pmod{c}$$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \times 2 \equiv 4 \times 11 \pmod{3}$
- $a \equiv b \pmod{c}$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \times 2 \equiv 4 \times 11 \pmod{3}$
- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$  ▶ proof

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \times 2 \equiv 4 \times 11 \pmod{3}$
- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4 \pmod{3}$

▶ First

$$a, b \in \mathbb{Z}, c \in \mathbb{N}$$

$a \equiv b \pmod{c}$  :  $a$  and  $b$  are congruent modulo  $c$   
i.e.  $c \mid (a - b)$

$$a, a_1, a_2, b, b_1, b_2 \in \mathbb{Z}, c, n \in \mathbb{N}$$

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \pm 2 \equiv 4 \pm 11 \pmod{3}$
- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4, 2 \equiv 11 \pmod{3} \Rightarrow 1 \times 2 \equiv 4 \times 11 \pmod{3}$
- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$  ▶ proof  
ex)  $1 \equiv 4 \pmod{3} \Rightarrow 1^n \equiv 4^n \pmod{3}$

$$a \equiv b \pmod{c}$$

▶ Start

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$

$$a \equiv b \pmod{c}$$

▶ Start

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$

$$c \mid (a_1 - b_1)$$



$$a \equiv b \pmod{c}$$

▶ Start

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a \equiv b \pmod{c}$$

▶ Start

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$c \mid \{(a_1 - b_1) \pm (a_2 - b_2)\}$$

$$a \equiv b \pmod{c}$$

▶ Start

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$c \mid \{(a_1 - b_1) \pm (a_2 - b_2)\}$$

$$c \mid \{(a_1 \pm a_2) - (b_1 \pm b_2)\}$$

$$a \equiv b \pmod{c}$$

▶ Start

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$c \mid \{(a_1 - b_1) \pm (a_2 - b_2)\}$$

$$c \mid \{(a_1 \pm a_2) - (b_1 \pm b_2)\}$$

$$\therefore a_1 \pm a_2 \equiv b_1 \pm b_2 \pmod{c}$$

$$a \equiv b \pmod{c}$$

▶ Start

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$

$$a \equiv b \pmod{c}$$

▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1)$$

$$a \equiv b \pmod{c}$$

▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1$$



▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1$$

## ▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1, a_2 = b_2 + ck_2$$

## ▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1, a_2 = b_2 + ck_2$$

$$a_1 \times a_2 = (b_1 + ck_1) \times (b_2 + ck_2)$$

## ▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1, a_2 = b_2 + ck_2$$

$$a_1 \times a_2 = (b_1 + ck_1) \times (b_2 + ck_2)$$

$$a_1 \times a_2 = b_1 \times b_2 + b_1 \times ck_2 + ck_1 \times b_2 + ck_1 \times ck_2$$

▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1, a_2 = b_2 + ck_2$$

$$a_1 \times a_2 = (b_1 + ck_1) \times (b_2 + ck_2)$$

$$a_1 \times a_2 = b_1 \times b_2 + b_1 \times ck_2 + ck_1 \times b_2 + ck_1 \times ck_2$$

$$a_1 \times a_2 = b_1 \times b_2 + c(b_1k_2 + k_1b_2 + ck_1k_2)$$

## ▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1, a_2 = b_2 + ck_2$$

$$a_1 \times a_2 = (b_1 + ck_1) \times (b_2 + ck_2)$$

$$a_1 \times a_2 = b_1 \times b_2 + b_1 \times ck_2 + ck_1 \times b_2 + ck_1 \times ck_2$$

$$a_1 \times a_2 = b_1 \times b_2 + c(b_1k_2 + k_1b_2 + ck_1k_2)$$

$$\text{Let } k_3 = b_1k_2 + k_1b_2 + ck_1k_2$$

## ▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1, a_2 = b_2 + ck_2$$

$$a_1 \times a_2 = (b_1 + ck_1) \times (b_2 + ck_2)$$

$$a_1 \times a_2 = b_1 \times b_2 + b_1 \times ck_2 + ck_1 \times b_2 + ck_1 \times ck_2$$

$$a_1 \times a_2 = b_1 \times b_2 + c(b_1k_2 + k_1b_2 + ck_1k_2)$$

$$\text{Let } k_3 = b_1k_2 + k_1b_2 + ck_1k_2$$

$$a_1 \times a_2 = b_1 \times b_2 + ck_3$$



## ▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1, a_2 = b_2 + ck_2$$

$$a_1 \times a_2 = (b_1 + ck_1) \times (b_2 + ck_2)$$

$$a_1 \times a_2 = b_1 \times b_2 + b_1 \times ck_2 + ck_1 \times b_2 + ck_1 \times ck_2$$

$$a_1 \times a_2 = b_1 \times b_2 + c(b_1k_2 + k_1b_2 + ck_1k_2)$$

$$\text{Let } k_3 = b_1k_2 + k_1b_2 + ck_1k_2$$

$$a_1 \times a_2 = b_1 \times b_2 + ck_3$$

$$a_1 \times a_2 - b_1 \times b_2 = ck_3$$

## ▶ Start

- $a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1, a_2 = b_2 + ck_2$$

$$a_1 \times a_2 = (b_1 + ck_1) \times (b_2 + ck_2)$$

$$a_1 \times a_2 = b_1 \times b_2 + b_1 \times ck_2 + ck_1 \times b_2 + ck_1 \times ck_2$$

$$a_1 \times a_2 = b_1 \times b_2 + c(b_1k_2 + k_1b_2 + ck_1k_2)$$

$$\text{Let } k_3 = b_1k_2 + k_1b_2 + ck_1k_2$$

$$a_1 \times a_2 = b_1 \times b_2 + ck_3$$

$$a_1 \times a_2 - b_1 \times b_2 = ck_3$$

$$c \mid (a_1 \times a_2 - b_1 \times b_2)$$

$$a \equiv b \pmod{c}$$

▶ Start

$$\bullet a_1 \equiv b_1, a_2 \equiv b_2 \pmod{c} \Rightarrow a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$c \mid (a_1 - b_1), c \mid (a_2 - b_2)$$

$$a_1 - b_1 = ck_1, a_2 - b_2 = ck_2$$

$$a_1 = b_1 + ck_1, a_2 = b_2 + ck_2$$

$$a_1 \times a_2 = (b_1 + ck_1) \times (b_2 + ck_2)$$

$$a_1 \times a_2 = b_1 \times b_2 + b_1 \times ck_2 + ck_1 \times b_2 + ck_1 \times ck_2$$

$$a_1 \times a_2 = b_1 \times b_2 + c(b_1k_2 + k_1b_2 + ck_1k_2)$$

$$\text{Let } k_3 = b_1k_2 + k_1b_2 + ck_1k_2$$

$$a_1 \times a_2 = b_1 \times b_2 + ck_3$$

$$a_1 \times a_2 - b_1 \times b_2 = ck_3$$

$$c \mid (a_1 \times a_2 - b_1 \times b_2)$$

$$\therefore a_1 \times a_2 \equiv b_1 \times b_2 \pmod{c}$$

$$a \equiv b \pmod{c}$$

▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

$$a \equiv b \pmod{c}$$

▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .

$$a \equiv b \pmod{c}$$

▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .  
 $a \equiv b \pmod{c}$

$$a \equiv b \pmod{c}$$

▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .

$$a \equiv b \pmod{c}$$

ii) Assume the statement is true for  $n = k$ .

$$a \equiv b \pmod{c}$$

▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .

$$a \equiv b \pmod{c}$$

ii) Assume the statement is true for  $n = k$ .

$$a \equiv b, a^k \equiv b^k \pmod{c}$$



$$a \equiv b \pmod{c}$$

▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .

$$a \equiv b \pmod{c}$$

ii) Assume the statement is true for  $n = k$ .

$$a \equiv b, a^k \equiv b^k \pmod{c}$$

$$a \times a^k \equiv b \times b^k \pmod{c}$$

$$a \equiv b \pmod{c}$$

▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .

$$a \equiv b \pmod{c}$$

ii) Assume the statement is true for  $n = k$ .

$$a \equiv b, a^k \equiv b^k \pmod{c}$$

$$a \times a^k \equiv b \times b^k \pmod{c}$$

$$a^{k+1} \equiv b^{k+1} \pmod{c}$$

▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .

$$a \equiv b \pmod{c}$$

ii) Assume the statement is true for  $n = k$ .

$$a \equiv b, a^k \equiv b^k \pmod{c}$$

$$a \times a^k \equiv b \times b^k \pmod{c}$$

$$a^{k+1} \equiv b^{k+1} \pmod{c}$$

The statement is true for  $n = k + 1$ .

## ▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .

$$a \equiv b \pmod{c}$$

ii) Assume the statement is true for  $n = k$ .

$$a \equiv b, a^k \equiv b^k \pmod{c}$$

$$a \times a^k \equiv b \times b^k \pmod{c}$$

$$a^{k+1} \equiv b^{k+1} \pmod{c}$$

The statement is true for  $n = k + 1$ .

by i), ii)

## ▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .

$$a \equiv b \pmod{c}$$

ii) Assume the statement is true for  $n = k$ .

$$a \equiv b, a^k \equiv b^k \pmod{c}$$

$$a \times a^k \equiv b \times b^k \pmod{c}$$

$$a^{k+1} \equiv b^{k+1} \pmod{c}$$

The statement is true for  $n = k + 1$ .

by i), ii) (Mathematical Induction)

▶ Start

- $a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$

i) The statement is true for  $n = 1$ .

$$a \equiv b \pmod{c}$$

ii) Assume the statement is true for  $n = k$ .

$$a \equiv b, a^k \equiv b^k \pmod{c}$$

$$a \times a^k \equiv b \times b^k \pmod{c}$$

$$a^{k+1} \equiv b^{k+1} \pmod{c}$$

The statement is true for  $n = k + 1$ .

by i), ii) (Mathematical Induction)

$$\therefore a \equiv b \pmod{c} \Rightarrow a^n \equiv b^n \pmod{c}$$

$$a \equiv b \pmod{c}$$

Github:

<https://min7014.github.io/math20201220001.html>

Click or paste URL into the URL search bar,  
and you can see a picture moving.